WFLEMING MACHINERY FOR AGRICULTURE I = @)
i AND COUNTRYSIDE CARE = B

FOLDING LANDLEVELLER SPARE
PARTS LIST







TABLE NO: 001 FOLDING LANDLEVELLER ASSEMBLY

LL12
ITEM NO DESCRIPTION CODE QrTyY
1| LL12 STAY BAR P001.208 2
2 | HYDRAULIC RAM (JANUARY 2012 ONWARDS) ZHYD55 2
2 | HYDRAULIC RAM ZGPP33 2
3 | PIVOT PIN P001.209 1
4 | M12x80 BOLT ZP ZFAS4A7 4
5| M12 NYLOCK NUT ZFAS22 4
6 | RAM PIN ZGPP95 4
7 | M6x40 ROLL PIN ZFAS30 4
8 | M16x45 BOLT ZP ZFAS11 4
9 | M16 WASHER ZP ZFAS36 8
10 [ M16 NYLOCK NUT ZFAS23 4
11 | STICKER KIT P001.522 1




